/

e

.

‘m=%% E‘ﬁi _ﬂ'dﬁ_ ERC I iiﬁ_ ﬂf WT_T'_T TIT_TQ Dl)(iralape_ﬁ this (_)_u;:sti;)n Booklet u_n_@il?ou_'art:‘ asked to dﬂ $0-
3 gl @ w3

Yo.orp g 4
H&ﬁ. ages in Booklet : 32 ot g
No Ofﬁmaﬁﬁwnso CSL-25 - gaig
“ 9 Questions in Booklet : 150 s 23
ode ; 35 Paper-11 n ~z g
Sub; = = £
Seoect : Mathematics © E
s R e —-—'_'_._-I___'___,_,_.—-—'_'
Tl 1300 T+ 10 e aftRaT O fa o - 300
m;éio_o_ﬂo_lﬂs + 10 Minutes Extra* =4 Maximum Marks:. 300
. P IR B et /R F7 B e R A 0 e e & G el 9w g ax 3 b -

' mmmwmmm_w—mwaﬁmmmwh 5
&mmw%/g’?ﬂwaﬁ.w.arq;gﬁ?—ma%wwawﬁmwﬁgﬁﬁ%lmmtﬁmﬁ?waﬁ‘mé,wa&r?mn‘cﬁﬁ IIE5.
| o |
%waﬁ mwmwmmwmﬁﬁmﬁﬁmwgﬁﬁmmﬁwmﬁﬁﬁ'
Ong v B B 5 e qeam 09 et TR /ol TR Y8 R @ R s !
v oning the paper scal/polythene bag of the Question Booklet before attempting the question paper the candidate should ensure that:-
Uestion Booklet Number and Barcode Number of OMR Answer Sheet are same.

E'::Lpagf:s & Que_stif)ns of Question Booklet and OMR Answer Sheet are properly printed. All questions as mentioned above are available
' N0 page is missing/misprinted. _ )
enm:i 12 ma}'ly discre}’ﬂﬂcyfdefecl.'cam_jidate must obtain anot!u:r Question Booklet from Invigilalor.'Ca!'ldidate himself shall be responsible for ‘
w- No claim/objection in this regard will be entertained after five minutes of start of examination. T

1 R & for frder INSTRUCTIONS FOR CANDIDATE |

2 w hikd m & Rser v afeEd &1 1. Itis mandatory to fill one option for each question.

5 Wl @ afw A ¥ 2. All questions carry equal marks. ‘

- Y® 9 3 oA U & e O | te ¥ ofi@e Swr 23 | 3. Only one answeris to be given for each question. If more than one answers
B 7MW A v @ IO B Terd HA QAT | are marked, it would be treated as wrong answer.

4 OMR STR-—95% 39 g # Y Tl & Wa ey | 4 :hc Oezm Answ;lr SQhueel. is irgidck]mis anuesliol:h BvonkJet. Wsr:e::i% :;_lrle]
Eﬁﬂ‘ﬂﬂ e e irected to n the Question Booklet, take out the Answer She
i @Ee ?;[ i;’;s;wagl R A A T AR in the parti(?l.ﬂea.rs carefully with BLUE BALL POINT PEN only. )

5 o= it 5. Wt Wi 5. Please correctly fill your Roll Number in OMR Answer Sheet. Candidate
T S5 T e -Q“'E -a‘wﬁ- STRTAT R IS ' will himself/herself be responsible for filling wrong Roll Number.

8 Eaﬂ; q‘:;_.{q:z;—‘r ¥ ¥aa hﬂil/ialﬁl ET*H/I 6. Use of Correction Pen/Whitener in the OMR Answer Sheet is strictly

il — LaC EECA/WHET B IS forbidden.
fifge &) 7. 1/3 part of the mark(s) of each question will be deducted for each

1. T T SR ﬁ?ﬂz ¥ HF T 1,/3 9T FIel WA | Ted S Wrong answer. A Wrong answer means an incorrect answer or more than
ﬂﬂmﬂwwmﬁnﬂﬁma}wﬂmﬁﬁwﬂm one answers for any question.

5. TEF Wed @ uig e RA W & e w1, 2, 3, 4, 5 dfda 8.  Each question has five options marked as 1, 2, 3, 4, 5. You have to
fr T & | It @ Wl s faffe o o & Pad U darken only one circle (bubble) indicating the correct answer on the
T () P IR—TFF W A} Al @gE T X THW WA B | Answer Sheet using BLUE BALL POINT PEN.

o TR ST W T IR A 2 ER &, N IR A T ) REST | e s e g @ question, then you have to S the

. i . ve ci rkened, one thir
# mew w¥ | AR uiE X X B N Mew www T R a2, @ W the marks of question shall be deducted. parky
B ford W 3@ BT 1/3 AT BT | 10.* After solving the question paper, candidate must ascertain that he/she

(0 TR B F @ Iuvia aeft sifard w9 ¥ SgHaR iR e has darkened one of the circles (bubbles) for each of the questions.
g o & T vl @ Rl op Reer (Men) = R 8w Extra time of 10 minutes beyond scheduled time is provided for this,
ﬁﬁmﬁﬁmﬂmmﬁmmww 2 11. Acandldnlewhohasnotdarkenedanyoftheﬁvecirclesinmorethm
R ot 10% X SR Wit A win Rwedt § X 2 A R sifva 10% questions shall be disqualified.

1 R 0 12. If there is any sort of ambiguity/mistake either of printing or factua]
7w .2 i b ! nature, then out of Hindi and English Version of the question, the English

, @ el 5 3 P S ) A e 1 e w3 @ Version will be treated as standard. R

: A D = TR SfUSh W § @ SN Wy "= B 13. Mobile Phone or any other electronic gadget in the examination
e P 3 SIS T 1 e Bl s qofen aff is strictly prohibited. A candidate found with any of Nal

13 e el 3 g W P afvla Wl R 2 o s objectionable material with him/her will be strictly g such
;{ﬂmmn\ﬂ' R R srfard @ s ’ Commission as per rules. Y dealt by e

el THe NS g oA R A Warning : If a candidate is found copying or if any unauthorizeq .

a7 T S € o el 0T 3 gy | und i lhr oo FLR. ok b o st i

x uted unde, e
gﬁ’{ﬁ SR T e wer (et # Glﬂfiﬁ |EET B ASUW | Public Examination (Measures for Prevention of Upgy; ' Rajasthay,

o & Py, 2022 T 3 A T ST @ Prai-greer | Recruitment) Act, 2022, other laws applicable ang (v, V€3NS in

ﬂ«} el @ S | arer € sy ¥% anaeff B wfasy ¥ @9 arelt | Regulations. Commission may also debar himher Permanenty 1 ission’

:ﬁﬁ g qiemsl ¥ Rafia s gwa 21 examinations. Y from a); future
T mé“ﬁmmmﬁlmmwmﬂmmﬁﬁmmﬂ%aﬁﬁm

L~ @ # a : Ry

ooy st ST T X1 B STe-xw ) 7 SR W 9 U S % S ) o 5 7 3 Ao B Y o,

%%wmaﬁmamﬁMMﬁmmﬁmuﬁwmIﬂﬁﬁmmmw T 35y
5‘““":1;;

: é Page 1 of 32 ) X‘mﬁh

Addazin — A B



https://applink.adda247.com/d/XhqWf9lSap

ALL EXAMS, |
ONE SUBSCRIPTION ',

70,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt
600+ Previous Year 500%
Exam Covered Papers Refund

ATTEMPT FREE MOCK NOW


https://applink.adda247.com/d/5zsmwiLHz7

- If

| e—

* 21 5» 8
: S;‘ ............ up to flfty termsand 3,5, 7, ........
up to six y i
ty terms are two arithmetic progressions.

In thes 3 .
te ) t\fv() arithmetic progressions, how many
Ims are ldentica] i values?

(3) 2) @) 22

5 5

(5) Questiop not attempted

line x4+ % =v2 touches the ellipse
T

X"+ 7 = 1, then the eccentric angle of the point

of contact i -

(1) (2

(3) (4)

(5) Question not attempted

*" If ¢(p) is the Fourier sine transform of a function

f(x) for p > 0, then for P <0, Fs {f(x);p} is equal

to -

(1) —o (p) 2) ¢ (-p)

@) ¢ (-p) @ ¢ (p)

(5) Question not attempted

Bladwia
lAN|A

. If T'is the position vector and 3, b are constant
vectors, then which of the following identity is

not true? _
(1) curl [(fx3@) xb] = bx3

(2) div[(# x ) x b] =-23b

(3) curl [ x (@x1)] = 2rxa

(4) grad (3d.7) =2

(5) Question not attempted

- Normalizer set of an element 3 of group

G=[{1,2, 3,4}, x5], will be -
M {1,2,3) @ {1,2,3,4}

() {1,3}) 4 ¢

(5) Question not attempted

- All bilinear transformations, whose fixed points
are -] and 1, are -

< __ atbz
mw=2 A= X
az+b W= azth "4:.
@w== @w=— Ther

(5) Question not attempted

1.

GET IT ON
A Google Play I

qgl % a1 3,5, 7,

2,5; 8y e AR ATt & | 37 3 i
re ﬁﬁ:ﬂjua T ¥ aHE &7

fort @ 20

(1) 25 @) 22

(3 21

) argeika 7 ;
o v x#i= V2 TR0

mﬁ,mmﬁﬁmmm%“
U @
. ) =

(8) SrgaiRe I¥

. Tf T Ger f(x) BT BRY T WA ¢yp) ¢

Wi p>0, @@ p<0® fIU F, (f(x);p) W
- -

M ()

@ ¢(-p)

5) IR e
M ve Refy wRwr qom 3, b v vl
ﬂﬁqﬂﬁﬁﬁm&ﬁﬁﬁiﬁﬁ?ﬁ g Tl 87
() curl [(F x 3) x b] = px
@ div](t x 3) xB'] =-23
() curl [¢ x @xP)] = 2ixz
(4) grad (3.7) =3

(2) - (-p)
4 ¢ (p)

j 1)

ol

®) srRT o
(1)[1,2 3) N
@ (1,3 (? (1,2, 3, 4}
O TRy gy 0
T 20
qALE § _ NS ey g - !
(1) w= 2D

" (2) w= 2tbz
@ w= S

~D2+3 a

(s)sﬁﬂﬁﬁm (4)W=B._:'_E_§
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7. "Srtf dimension of the subspace. 7. RY(R) @ SUEARE S = {(a.a.a)lae R} 1 AT
={(a,a,a)lae R} of R*R) s - 3
M 3 (2) 2 1) 3 2 2
::: ] @) o 3) | (4) oo
Question not atte STERa
- General solution of dI;ft::ntial i i - dv 2xy z7
¥y equation 8. 3gFHd W&?:y:_z}_l T grAard =¢
dx mls - T -
(M x2+2Y1089y—cy~1=0 (1) x?+2ylog,y-cy-1=0
(@) x* +ylog,y+cy+1=0 (2) x2+ylog.y+cy+1=0
@) x2- 2ylog.y+cy-1=0 (3) x2-2ylog,y+cy-1=0
@ y2+2xlog, y-cx-1=0 ' (4) y?>+2xlog,y-cx-1=0
(5) Question not attempted (5) rgeIRa wed
% Let A= (xeNIx <9} andRis arelation defined 9 T A= (xeN|x <9} T A T G E3
on A such that xRy < 2x - y = 1, then range of R R 39 PR 2 b xRy @ 2x -y = 1.9 K @
is - gReR ® — =
(M {2,3,4,5) (1) {2,3.4.5)
@ (1,3,5,7,9) : (2) {1,3.5.7.9}
3 {1,2,3,4,5) (3) {1,2.3.4,5}
4 {1,2,3,4,5,6,7,8,9} 4) {1,2,3.4.5.6.7.8.9}

(5) 3rgiRd g

10. ggea S = {a + ib. ¢ +id} AW wARE CR)
- (@Ef C(R) wftHs Wit &1 &5 §), & T
IR FHwId B, Iie AR DIt I —

(5) Question not attempted

10. ThesetS = {a+ib, c +id} is a basis set of vector
space C(R) (where C(R) is field of complex
numbers), if and only if-

(1) ad—bc#0 (2 ad+bc#0 (1) ad—bc#0 (2) ad+bc#0
(3) ac—bd#0 (4) ad+bc=0 (3) ac—bd#0 @ ad+bc=0
(5) Question not attempted o (5) Sr<IRdT yeA

11. The maximum value of function 1. % f(x, y) = 16 -x*—y* BT TS 719 wafy

f(x, y) = 16 = x* — y* subject to x + 2y =6, is - X+2y=6%8, % —
44 44 ' 44 44
()2 @: A @ @3
(5) Question not attempted (5) 3rgaRa e
2. 1f f(x) = [x] (Greatest integer function), then the 12 X f(x) = [x] (FETH TIE Wora) @
interval in which f satisfies all the conditions of IRTel forgd f ATt Fegs Dﬁa‘agl ag
[ agrange’s Mean Value Theorem, will be - g & g BYAT 8, By mh
13 11 13 &
o [ @7 ok @ [
2 %2 3) 10,2 1
@ [0.2] @ [33] [0.2] @ [
(5) Question not attempted (5) 3rgiRa e

N i ) Pace 3 of 32 m @m T
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13.

14.

15.

16.

17.

GET IT ON
Google Play

| o A gix—onY
A fair coin is tossed again and again in a fixed 13. v@ T R i e O IR
number of times ili i af ﬂ]ﬁﬁ”ﬁ

imes. If the probability of getting SBra Srdl 8l sl @ g, dl < o
seven heads is equal to that of getting nine heads, 4} ford g @
then probability of getting two heads is - o @ faedl g

15
21 (2

21
(1) — 15
@) (2) DI

9
(3) — 5
@7 (4) (2)13

(5) Question not attempted

Value of fle ) le i f log.rlogslog.tdrdsdtis -
Mo 2 e

(3 1 @ (1-e)

(5) Question not attempted

The equation of the cylinder, whose generators
are parallel to the line 31(- = % = g and whose
guiding curve is the ellipse x*+ 2y* = 1; 2 =0,
is -

(1) 9(x®+2y* +2%) —6xz+ 12yz=1
(2) 9x2+y*+2z%) -6xz+ 12yz=1
(3) 9(x2 + y? +2%) — 6xz + 12y2=9
(8) 9(x? + 2y* + 2%) — 6xz + 24yz =9
(5) Question not attempted
Complete integral of the partial differential
equation (xy —zx) p + (y2 - xy) q = (xz - yz)

‘x- n

Ll
.
b

is -

(1) f(x+y+z,x2+y2+zz)=0
(2) f(x+y+z,x~y+z)=0
@) f(x2+y*+25 xyz)=0
@ f(x+y+2z xyz) =0

(5) Question not attempted

Singular solution of the differential equation

dy) .
p= log.(px - y) (where p= EI.;) is -
(2) y=xlogex-1

(1) y=xlogex+1
@4 y= x(logex-1)

(3) y=xlogex+x
(5) Question not attempted

14.

15.

16.

17.

Paca 4 ﬂf 32

M &m 4
gy @ 55
(3) (2)13 (

(5) FFgaRd 5T

qF 8 -
J; J; I 1oger 108¢S log,t dr s dt @1

(2) e

(10
4) (1-e)

(1) 92 +2y* +2%) —6xz + 12yz=1

@) 9(x2+y*+2%) —6xz + 12yz = |

(3) 9(x2+y>+25) —6xz + 12y2 =9

() 9(x% +2y* +7°) —6xz +24yz =9

(5) 3rg<IRd ¥

¥ dadd FHIBRUT (xy - zX) p +
(yz-xy) q = (xz - yz) BT QU WAIH & —
(M) fx+y+z, x> +y*+2)=0

@ fx+y+z,x-y+2)=0

(3) fx>+y?+2% xyz) =0

(4 fx+y+z,xyz)=0

(8) 3R wea

Al FHHR p = log, (px - y) (G{sfpz ﬂ)
dx

F AR g & —

M y=x log.x+ 1
&) y=x lOgex'|' X

) gRe e

@ y=xlog.x-1
(4) y= X(l(]gex_l)

Im
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18.

19.

21.

Consider the following two statements -

(I) If Linear Programming Problem have
feasible solution, then it also has a basic
feasible solution,

(I) There exists only finite number of feasible
solutions of L.P.P.

Which one is true?

(1) Only (1)

(2) (1) and (I1) both

(3) Only (I1)

(4) (I) and (II) both are false

(5) Question not attempted

e ) +b ..
Bilinear transformation w = ::+d which has one

finite invariant point o and the other invariant
point oo can be expressed in usual notations as
a
(where A= E) -
M w=2A(z-a)
@ w—a=A(z—a)
) czZ+(d—a)z—b=0
1 1
o fr
(5) Question not attempted

If system of linear equations -

X+Ay+3z=0
3x+Ay-2z=0
2x +4y-3z=0
has a non-trivial solution (x, y, z), then Z—i is
equal to -
M 3 @
5 4

(5) Question not attempted
For the Legendre function Pn(x) of first kind,

J':'ll PZ(x)dx is equal to -

2

= 2
(1 3 (2)

2

= 4
3 3 (4)
(5) Question not attempted

Nk ww

R

18. fy=faifad & Al W AR #fg —

19.

(1 afy B Was v wEEn o Ao
zal e &), dr sueT va s AT
gar A7 B _

(Il)wmwaﬁrﬁaﬁqﬁfﬁﬁﬂ@‘
¥ gETa ga faemE g g

PIET Il B°

(1) ®waa ()

(2) (1) @2 (1) <=1

(3) Had (IN)

(@) (1) T (1) ST & 3 ©

(8) IRT ¥

¥R SR w = 2 Ryt T TR

ﬁwﬁﬂaﬁwqﬂgaﬁ'\'ﬁ%w‘tﬁ,ﬁ
A e ¥ fe e ¥ forar o Wl 87
(22

MNMw=A(z—-a)

@ w—a=A(Zz—-a)

) cz2+(d—a)z—b=0

(@) —=—+2 |

w=—a Z—a

(5) Irg<iRd weA

- B
20. gfe IRge Tfidvvr e —

X+Ay+3z=0
3x+4dy-2z=0
2x+4y-3z=0
Xy
@1 U AR B (x,y,2) B, A = aRraR @ —

M = @ =

5 4

3) E 4) 11

(5) argeiRa v

(1)
(3)
(5) arfeRe weel

23

4
(4) *

nin SN

4]
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22. Three

23.

24.

25.

forces of magnitude 8 Newton, 5 Newton
fmd 4 Newton respectively acting at a point are
' equilibrium, then angle between the forces of

magnitude of 5 Newton and 4 Newton is -

() 3 2) cos™! (-:-E)

-1(23
(4) cos (40)
(5) Question not attempted

(3) cos! Gg.

For following pay off matrix, the value of game
is -
Player B
I Il 1]
a7 2
PlayerA, 11| 6 2 7
mps 2 6
(1) 4 (2 3
3) 6 4 7

(5) Question not attempted

A tensor. which has the same set of components
relatively to every system of coordinate axes, is
called -

(1) a mixed tensor

(2) an isotropic tensor

(3) a contravariant tensor

(4) an invariant

(5) Question not attempted

Which of the following statement is not true?

(1) If guiding curve is a conic then equation of
cone need not be a quadratic.

(2) Degree of equation of a cone depends on
degree of equation of guiding curve.

(3) Every homogeneous equation of second
degree of three variables represents an

equation of con€ with vertex at origin.

(4) A cone whose equation is quagratic is called

quadratic cone.
(5) Question not attempted

23.

24.

25.

Page 6 of 32
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55

—

4 2) cos™’ (a

(23
@ cos (5

ifr 7 2
Rrerr A, 1|6 2 7
mls 2 6

(2 3

4 7

1 4
3 6
(5) srgaRd e

v ey, forad geal @ uwad Tdd [er
& Sl ol @ anerd: 999 81 8, hedrdl

g —

(1) e Af3a gfqe
(2) v& wHaRd ey
(3) & ufuRads wfeer
@) s e

(5) SrgaRa e

frfaRad & @ B BuT T 98 &2

() 3} e 9 oF Widg 2, Q@ viw @
TR e S et &)
@ WG @ wher B ww, frfre @ @

IR B O R R w8
(ﬂmﬁﬁﬂﬁﬁmﬁ‘mw@

ﬁﬁmﬁﬂf‘@wwﬂmm%,
@) v t\rﬁﬁa Rraar FHIHRoT

el vig et & e B
) IFRT yog


https://applink.adda247.com/d/XhqWf9lSap

Addal2417

27,

28.

29.

30.

31.

32.

GET IT ON
Google Play

R

If y is a function of x gych that loge(y - x) = 3xy,
then y'(0) is equals to -

(1) -4 () 4
@) 2 @) 3
(5) Question not attempted

Two dice are thrown together, the probability

fhat the sum of digits obtained is a multiple of 4,
is -

)
(3)

(5) Question not attempted

A and B are two finite sets such that n(A) = 3 and
n(B) = 5, then maximum number of elements in

1
@ ;
@ 3

4

[=- N

(AUB) can be -
(1) 3 (2) 8
3) 5 (4) 7

(5) Question not attempted
If matrix A is orthogonal and involutory, then A
is -

(1) Symmetric matrix

(2) Nilpotent matrix

(3) Skew symmetric matrix

(4) Scalar matrix

(5) Question not attempted

The angle between the line = (i+ 2] - k) +
AG-7+ k) and the plane t.(21-j +k)=4is
given by - '

(1) sin™? (zgﬁ) (2) sin™! (V;—E)
(3) cos™! (V—;—%) 4 cos™! (2—3@)

(5) Question not attempted

The number of generators of an infinite cyclic
group is - :
(1 2 (2 3
(3) oo @1
(5) Question not attempted
: 35 ;
Infinite series 1 + % + ?11.% + ;1;7 T is
équal to -
- 1
(1 2‘:?1 (2 22
1
@ 3 @ 25

(5) Question not attempted

26. gy y, x B QA B & b loge(y - x) = 3XY°

27.

28.

29.

30.

3.

32.

a9 y'(0) TR & —
1 -4 2) 4
3) 2 @ 3
(5) argaRd e N
ﬁmﬁaﬁwwcﬁﬁw%ﬁmﬂﬁ
Er%u‘mmrzxmwmaﬁmfﬁaﬁr%f

1 1
@ @3
(5) JrgaRd u¥

=3

A o1 B YR <1 aRfm wyeaa & & n(A)
WH(B)=5,W(AUB)ﬁmﬁﬁa¢W
He&T B gl 8 —
(13 (2 8 -
@) 5 @) 7
(5) IR T
Iy aaE A <ifds T spder i g, @ A
3
(1) TP AR
(2) TAvTdl TYE
(3) fawq wAfAd 3TgE
(4) e ATgE
(5) Ir<IRG U

el Y@ t=(i+2-K) +A(i-j+Kk) @0
e t(2i-j+k)=4 & wm @ feam
STl § —

. —1{2V2 . 1 (V2
(1) sin 1(—3-) (2) sin 1(?)
(3) cos™?! (?) (4) cos™? (Zsﬁ)

(6) SraRa wE
TP JURME T TE B DI Pl e
&

(1) 2 3
9 ) 1
(5) argaRa weA
1 13 135
M 1 + .4_ + 4—; + ‘_"_B_TE g W
3
M 27 B 2¢
@ 35 " &
(5) SraRa we
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34,

35.

36.

37.

38.

39.

In a divided difference table Ay, 'M.Z(hy_.-- 64,
3 3 y
,4}5’6*19?. then value of 4}& is equalto-

(1) 19 25
(2) =

(3) 539 @ 10
(3) Question not attempted

If the value of a function at m be denoted by

A, — Ctd Am .
tBm- ey _;“ (d # 1) then value of %—;n— 1s equal
M) 4
@ L
) 28 i 1-d
— 4 0

(5) Question not attempted

If the 111.1e Joining the points (-2, 6) and (4, 8) is
Perpendicular to the line Joining the points
(8, 12) and (x, 24), and x = ::—2 , then 1 is equal
to - .

(1) -4 2 -3i

(3) 2V3 (4) +4i

() Question not attempted

Number of all the cosets of H = {0,3,6,9} in the
group G = (Zy, +4;) is -

M e (@ 3

3) 2 4) 4

(5) Question not attempted

In usual notations, if f(z) = u + iv, is an analytic
function and v = y?> — x?  then f(z) =

(M iz+C (@) —i2+C

@) —iz+C @) iz’+C

(5) Question not attempted

The number of common tangents to the circles
x> +y*=4 and x? + y*- 6x - 8y =24 is -

(1) 3 (2 4

3) 1 4 0

(5) Question not attempted
If BM;:, y) — 6N;:: y)
the value of [(Mdx+N dy) (where ¢ is a
regular closed curve in xy-plane) is -

1M 1 (2 3

@) 0 (@ -1

, then using Green’s Theorem,

33.

- 34,

35.

36.

37.

38.

39.

GET IT ON
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v fomford afae Aot Zshyﬁm.ll}y,:ﬁ
AS)’(&_W?'a_q éﬁ:‘y, &l HIH CRIGES g —
! oy

119 x @ =
2
(3) 539 T ( ) 10

(5) SrgeRal 7%

AfY T B B m TR A B Ap = - (d #
AAm R & —

ﬁmaﬁmmﬁa‘rm &1 41

(1 d

@ =
(5) argaRa e

Iy favgait (-2, 6) @2 (4, 8) BT e arell Y@
fegat (8, 12) T (x, 24) B fHA™ TN W

WW%,H?AT:::'T"Z?LH‘MW%—

(1) 4 (2) -3i

3 23 (4) +4i

(5) srgaRa e

e G=(Z1z,+12) § H=1{0,3,6,9) & W
HEageEdl o Heear & —

(1) 6 2 3

(3) 2 (4) 4

() IguRa ge=

A o A, IR f(z) = u + iv, T Rvafe
el 8 AT v=y2—x2 @l f(z) =

(1) iz+C (@ -iz2+C
(3) —iz+C 4) iz2+C
() rgaRa ue=
T X+ =40 x2 4 y2 - 6x - 8y = 24 B
TS wel Y @ wer ¥ -
(M 3 (2) 4
@1 @ o
(5) SreRe e
IM(x, y) N(x, y)
ML= o3 o e @ g <

J.(Mdx + N dy) (S c, Xy—d # vs frafig
I TP B) BT HF & —

1)1 @ 3
3) 0 @) _1
() sFERa gom

(5) Question not attempted
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0. How many wordsg can be made from the letters
of the \'word “SATDEN", in which the vowels
appear in alphabetica] order?

(1 120 (2) 360
(3) 480 (4) 240
(8) Question not attempted

f 3D
f 4b¢ are three vectors such that

a+b+i:'=ﬁ and |5l=3,|Bl=5,|E|=7.
then angle between dandb is -
(1) 450

(2) 90°
() 60°

(4) 75°
(3) Question not attempted
Which of the following statements is correct?

(1) If any primal problem has no feasible
solution, then its dual problem will also have
no feasible solution.

If any primal problem has a feasible solution,

then its dual will also have a feasible
solution.

(2)

(3) If primal problem has no feasible solution,

then its dual problem will have an
unbounded solution.

If both primal and dual problems have
feasible solution, then both will have
bounded optimal solution.

(5) Question not attempted

(4)

: 1 :
43. The inverse Laplace transform of log, (—:—p is -

M=
B) 1—-e*

1—-e7X

1 _=x
2 —e
@ 1-="
X
(5) Question not attempted

A body moving with S.H.M. has an amplitude
‘a’ and time period ‘T". If the velocity is tripled,

; -
when the distance from the mean position is (-?:)a

44.

~ and the period remains unaltf;red, then its new
amplitude is -
™ (3)a @ (3)a
@ ()s @ ()s

(5) Question not attempted

e ———

40. “SATDEN" 71 % Feri 9 a0 I Tt fare

41,

42.

43.

et § TR quiEen & HAGER A

(1 120 (2) 360
(3) 480 (4) 240
(5) argaRa ¥

— L

afy 3,b¢ &= wfew 8 E
A+b+ =0 o |a|—_-3,|b|=5,ICIﬂ *
g9 3 U7 b @ Hed BT & —

(1) 45° (2) 90°

(3) 60° (4) 75°

(5) srgaiiRa weA [
freferRad wodl § | Il o

() afe e amer AR &1 A §
@ g A wEeEn @ N gETd L
faeE= FEl 8|

(ﬂuﬁ:ﬁﬁmwwwﬁﬁﬁ
T 28 B N GETA gl BN |

@) aft s T P gETd gt e T
ﬂ‘r,a’rsﬂaﬁﬁwzﬁﬁaﬂﬁﬁﬁﬁ'

@) of2 amer qen 2 T wERl B gaTd
& femE o, 9 F @ g UReg ¥ad
&l B |

(5) I<iRd we=

loge(I;p) BT Al e U & —
() === @ Z-e>

(3) 1 —-e™ (4) 1_£

(5) srgeRa e )

R St MR W AT AT B By oy gy
‘a’amamﬁ?ma‘?%mﬁmqﬁmm
ﬁ(%)aqﬁaﬁwsmaqﬁwwﬁm
SIUNRC IS ERED Cﬂqﬁﬂﬁﬁ—‘% ar S

I § —
(M G) a ) (7;) &
9 (%) g @) G) a

®) FgaRa we=
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B If three points With position vectors  45. gfy dg fg fre  Refd Q:rﬁQT ?;;
60i_+ 3,401 — 8j and ai — 52] respectively are 601 + 3j, 401 — 8] T af — 52j g O &,
C-lollmear, then value of a js - a FTHA & —

(1) 40 (2) -40 (1) 40 (2) -40
(3) 100 (4) 160 (3) 100 (4) 160
(5) Question not attempted (8) srgaRa wed

46. Let T, be the number of all possible triangles  46. w7 Ta, n-YSTI31 A U HHIGYS @ ot &l

formed by joining vertices of a n-sided regular Sy TR g arer WY Wi e @ we
I i ,

iI;O-Ygon. If Toyy - T, = 21, then the value of n 1 AR Ty - Ty=21 8 & n &7 A & —

(1) 8 (2) 10 (1 8 (2) 10

(3 7 @ 5 (3) 7 (4) 5

() Question not attempted (5) argaRa wee

47. Equation of the asymptotes of the conic 47. vigg L = 1+ecosd (V& e>l) @ et

:—_= 1 + e cos® (where e>1) is - Wﬁw?-
() Ir = e(e? ~ 1)cos + e \/(eZ — 1) sind (1) Ir = e(e? — 1)cosB + e /(€2 — 1) sind
(2) el =r(e? — 1)cos8 + r(e?—1)sind (2) el =r(e? —1)cosb +r+/(e2 — 1) sind
(3) le =r(e* + 1)cosB + r /(e + 1) sind (3) le = r(e® + 1)cosB + r/(e + 1) sind
(4) el =r(e? — 1)sin + r/(e? — 1) cosd (@) el =r(e? — 1)sin6 + r/(eZ — 1) cosh
() Question not attempted (5) 3rgeRd ge

48. A variable plane passes through a fixed point 48 T% =X WHId TH RoR 45 (a, b, ¢) & o
(a, b, ¢) and cuts the co-ordinate axes at points g aur N st @ fageit A, B ek Cc w
A, B and C. Locus of the centre of sphere OABC, Frear €| Tt OABC @ B &1 fagwer &y,
where O is origin, is - Siel 0 7o fig & —

C % y % a b c _
mi+E+i=1 @i+2+i=2 Mty+ti=1l @i+l+i=2

£ - ¥y 2 _ a b c _
@itE+i=2 @i+>+5i=1 @aty+i=2 @i+2+i=1
(5) Question not attempted (5) srgaRa yeH

49. If Jo (x) is Bessel's function, then value 49-3f@ J, (x) ¥ B T«

of [*xe 3 Jo(4x) dxis - Jo xe™ o (4x) dx FT A & —
2 @) — (1) = (2) —
N == 125 125 1§s
3 g —_—
(3) 2_35' (4) 75 @) 2 e
5
(5) Question not attempted (1) IR LES]
: 50. 2
50. [ log,(x + VxZ + 1) dx equal to - Jloge(x + VXZ+ 1) dx avrr &
1 @0 (1) log, (1) (2 0
(1) loge (g) 3) 2
(3) log.2 (4) 2log:2 () log:2 (@) 2l0g.2
- () srgaRa ye
(5) Question not attempted
e \—\\___/
Page 10 of 32
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51.

52.

53.

55.

56.

e

If Ajj# 0 are the components of a tensor of the
type (0, 2) and if k A;; + ki Ajj = 0, then which of
the following is false statement?

(1) k =k; and Ajj is skew symmetric.

(2) k =k and Ajj is symmetric.

() k =k, and Ajj is symmetric.

(4) k is never equal to k.

(3) Question not attempted

The Laplace transform of x" e®, where n is a

positive integer, is (p > a) -

n! n!

(1) Ty

(Ta) +1 @ L5or
3 ll+1)! n!
( ) (p—a)l’H’l (4) (p_a)n+1

(5) Question not attempted

In usual notations, the acceleration of a point
moving in a simple curve with uniform speed

is -

(1) pev ) py?
(3) p2y @) py
(5) Question not attempted

. Assuming Stirling interpolation formula up to

second order, value of —(—y-"—) is equal to -
(1) g()ﬁ +y-1) 2) ;(Y1 =y-1)
(3) ':‘()’1 - y-1) 4 ';‘(Yo =)

(5) Question not attempted

The minimum value of y=64secx+ 27 cosec X
for the interval 0 < X < -123 is -

(1) 125

(3) 45
(5) Question not attempted

- gt b

(2) 80 -
(4) 64

B

1
e of Lirg(cosec X) Nogex is equal to -
X—

The valu
(1) -1 @ <
3 1 @ e

51.

52.

53.

55.

GET IT ON
Google Play

gf-ﬂ{eﬂ

af Aj#0, (0,2) YHR & gfaw & "k
aracd

afe k Ay +ki Aj=0, @ frer & & ST
HUT 57

(1) k= k) @7 A;; Rrem afd 2|

(2) k = k) T A @A € |

(3) k = —k, T Ajj THAC € |

(8) ke ki @ wE TE E

@ oo @ oy

(5) IARd U=

= Gt #, e e @ A T ik
1 & T A g T @R €

() pev @ py?

@ p*y @ py

(5) arg<IRa U¥

-%ﬁﬁﬁwﬁwéﬁgqﬁ?i?ﬂ"zﬁ

aﬂﬁmﬁaﬁ,i‘—%“ﬁmmm%—‘

() 2(y1 +¥-1)
@ > (1~ y-1)

(5) ARG T

3T=RTA 0<x<§?ﬁ forg, y

@ (1 —y-1)

(4) ';'(Yo -y-1)

= 64 sec « +

27 cosec X @I ~gaH HI 7 -

(1) 125 (2) 80

(3) 45 4) 64

(5) 3R U

Lim(cosec ) logex T A T & —
() 1 @ 1

@ 1 @) e

(5) TR I¥

(5) Question not attempted
Page 11 of 32 B
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57. For Legendre po] ynomial
Pa(x), = Pl (x) + 2 P3 (x) is equal to -
(1) x (2) x2
() x? (4) x*
(5) Question not attempted
58. Eigen values of the matrix A = [ ] are -
M -1, ) 0,i
@) o1 @) 1,i
(5) Question not attempted
39. The unit vector along the internal bisector of the
angle between vectors 3 = (1 + ZF:) and
= (—-j-2Kk) is -
1) \E(i-—j‘) @ (-9
(@ Sk @ Z0-9)
(5) Question not attempted
60. The distance of the point (1, 0, 2) from the point
of intersection of the line x32 = y—:-l = z—l_; and
the plane x -y + 2z = 16 is -
(1) 13 units (2) 3v2T units
(3) 8 units @) 2v/14 units
(5 Question not attempted
1 a 3
61. If P=|1 3 3] is the adjoint matrix of a
2 4 4
matrix A of order 3x3 and |A| =4, then o is equal
to -
(1) 5 (2) 11
(3) 4 4 6
(5) Question not attempted
62. The domain of the function f(x) = (2* + 27 - 2)
1S -
M 1<x<2 2 0<x<1
@) 1<x<oo @ o<x<1
(5) Question not attempted .
63. The angle between the lines whose direction

cosines satisfy the equations / + m + n = 0,

P+m’-n?=0is -
T k1Y
M 7 2 3
@ = @ 3
(5) Quesnon stion not attempted
P .

GET IT ON
Google Play

57. 9 ague Pun) B R R0+ B

ik 2 x

. @ x*
@) x* X
(5) rgaRa we

S ¢ —
5a.al1fq§A=[ﬂ i]fﬁm“ﬁg

M -1,i (2 0,i
() o,1 @) 1,i
(5) R we

59 wfdw & = (1+ 2k) 7o b = (= — 2K) @ 7
WZBﬁwf?ﬂmma%ﬁmWS‘W
8 _

1 ..
e =00
M [i-j) @ &
1 .. P
@) “L*g"ﬁ @ 70—
(5) srgaRa e

60. Y1 2 = L2 = 22 qorr woerel x -y +2= 16

Eﬁﬁﬁiﬁi‘q’ﬁﬁ“@fﬁ:@(l 0,2)d g & —

(1) 13378 2 3v21garE
(3) 8313 @) 2vizsor
(5) 3rgiRa wem

61. 7y 3x3 PH D AGE A BT HEEST IR

1 a 3
p= [1 3 3J%W|A|=4a‘r,a‘fafmwﬁ

2 4 4
) s 2 11
(3) 4 4) 6
(5) srgia wem
62. W f(x) = (28 +2Y-2) &1 Uy & —
M 1<x<2 @ 0<x<1
B) 1<x<owo @) o<x<i
(5) STeRe wem |

63. @, e ﬁ?b_cﬁvam“' Ao
l+m+n=0,2+m?-n —Oaﬁ'wmg
@ T B -

M 3 @ I
@ 2 @ I
(5) ITIRT yem

T g
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64.

65.

66.

67.

GET IT ON

Google Play

For a three-dimensional coordinate system 4. v f3fan Fcewis R (x X2 x3) @ ferd
(x', x2, x*) the components of unit tangent vector x' — a & IgfRy gHE QI:W? afeer ‘5 eed
along x' — curve are - §_
(1) (J—OO) (2) (J_OO) (1) (T: 00) (2) (J——OO)
@ (V&™.0,0) @ (/£11,0,0) 3 (J/g™.0,0) @ (J811,0.0)
(8) Question not attempted (5) IrgaRa uF
The general integral of the partial differential ~ 65- afif/s A FHET xzp + yzd = XY el
equation Xzp + yzq = xy is - AT HIPA B —
M & xy+22)=0 (1)¢(§,xy+zz)=0
@ ¢(x-y,xy-2z2)=0 @ ¢px-y, xy-z)=0
] N % oo i
&) dJ(;,xy-zz)—O @) d)(y,xy 22)=0
X X N
(4) ¢(;,xz—y2)=0 (4) q)(;,xz—y)-o
(5) Question not attempted (5) srgaIRa W
Which of the following statements is not true? 66. Py=ferfad ol § A BIFAT B AT &l 87
(1) The set I of integers is only a subring but not (1) qoriel 1 wgead 1 aRAT Hegrall @1 aeid
an ideal of the ring (Q, +, +) of a rational (Q, +, «) DT Ddcl T IUaerd g uxg I
numbers. ) TUTSTaett 8l € |

l-..

(2) The set Q of rational numbers is only a
subring but not an ideal of the ring of real

n(2) uRiy  wEmell w1 W Q darifa®
el @ gerd (R, +, o) B dad TH

-;‘s,:

numbers (R, +, ). W%W@Wﬁ?l

(3) A commutative ring with identity is a field if (3) Usp Temd) HHRALT aed Ud a5 Bl 8,
it has proper ideals. e g SfEd ureTae &1 |

(4) If U is an ideal of a ring R with unity such @) afe v T=Ed! a9 R ¥ U TH T
that I € U, then U=R. Toroael 8 f6 e U, @1 U=R 2|

(5) Question not attempted (5) sraiRa oe=

If Xy oz € [1 1] such that 67-3fX x,y,z e[-1,1] 39 R & B

cos'x + cos''y + cos'z = 0, then value

cos'x +cos'ly+cos'z=0, x +y +2z BT 7

ofx+y+zis- 2 —
1o (2 2 (1) 0 2
3) 1 4 3 3) 1 24; g
(5) Question not attempted (5) srgRa e
. Equation of a common catenary is (where cisa 8. WM HeQ &1 HHDRT & (SRl ¢ U e
parameter) - 2) -
¢ ﬂ,& :I_x ix —ix —ix .
(1) y=5(ec —-er) @ y——(e° +e°) ) p=g (e‘ ‘“) @) Y**(Ec +e“.l")
(3) y=§(e§+e_—:) @ y== (ec—ec @) y== (e=+e_6) (4) Y=;(e§__e:5)
(5) Question not attempted (5) argiRa ue
= e

.12 2 _‘\\_‘—‘“\
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69

70,

7.

72.

73.

74.

5 -

acterigrio f . ;
() ) Cristic of the ring (22’ +5, X,) is -

T
(5) Q ; l
uest ;
e 10n not attempted
J'-t dx
T Tecoss 1S equal to -
1) >
2 4 -
5 : 2
f[) Question not attempted
he solutio :
N of simulta i i
equations . Imultaneous differential
dx gy
Zdt Tt ix4+y=11t
2% +3% 4
dt gt T 2X=3y =2 has the value of x is
€qual to -
11
Mees3t42 @ ceoyse-s

ces + 3t+2

(5) Question not atfempled

The approximate value of Y'(2) from the data
below is —

x 1431273 &1

¥y ! 0 |1 .8 27| 64/[125
M6 ) 24
(3) 18 (4) 12

ITll"

g

In which interval, the function f(x) = ix

(5) Question not attempted

E

w

+

%xz — 6x + 8 is strictly decreasing?

(1) -3<x<2 (2) 1<x<6

) x<-3 () 2<x<o0

(5) Question not attempted

The image of the lines x = 1 and y = 1 under the
1 -

mapping w = ;;z:x+1y 1S -

(1) both bilinear transformation and conformal

70.

7.

72.

73.

74.

GET IT ON
Google Play

ik
acd (Zz +2 ) T 2)
ot @ !
(5) argaRd A
;'41 dx W g -
I% 14cC0S X (2) 2
(1 2 1
@) -1 4 3
2
() agalRd o=
PUECECEET AR —

23—"—%’;’+2x.—l-y=11t

t

2% 43 4 5x-3y=27 ¥ A x I w
dt t

TWER & —

-11
M) cemt_3t+2 @ cev +3t-2

11
(3) ceit+3t-2 (4) ces'+3t+2

(5) SrgRa W=
4 A M sifeel H y(2) T AEDT
3

x 1 0 112113 4|35

y 0 1 8 |27 664|125
16 (2) 24
(3) 18 (4) 12
(5) argaiRd yeA

fre sl § wom f(x) = %3 + 2x% — 6x 48
AR T 27

(1) 3<x<2 (2 1<x<6
B) x<-3 (@) 2<x<oo
(9) er=iRa uwe
q&lﬁa'uTW—-—z._

mapping 5 o &
(2) neither  bilinear transformation  nor T ¥R gy
conformal mapping & iR TR aﬁ;ﬁpf
(3) a conformal mapping-only o DI T qﬁﬁnu‘
-b'l'ncartransformanononly w iij'“'
(4) abili ) o Hael
(5) Question not attempte Gﬁ'ﬁﬁ - YT
o o e — o
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75. e
The eccentricity of the hyperbola with
asymptotes 3x + 4y = 2 and 4x - 3y =2 is -

M2 1
1 2 5
@ - @ 2

(5) Question not attempted

76, If 22 (wh .
52, * \Where zy, z; are complex numbers) 1s a

purely imaginary number, then

Z1—Z3]) .
-1——2| is equal
Z1+23

to -
03 @ s £k
@) 1 @ 2 '

(8) Question not attempted
7T. The equation of the cone whose vertex is the

origin and guiding curve is X = %, f(y,z) =0,
is — :

X oy \_
M f(ﬁ’\ﬁz )— 0
@) f('«%?'z_y )=0 @ f(
(5) Question not attempted

78. fog x Jo(2x) dx is equal to -
M =),6) @ 2).66)
@ 2y,(6) @ 2 ,(6)
(5) Question not attempted

79. Which of the following statements is true?
(1) Canter’s set is not compact set.
(2) Every compact subset of a ‘metric space
(X, d) is closed.
(3) If d is usual metric in R, then (R, d) is
compact metric space.
(4) Every finite subset in a metric space is not
compact.
(5) Question not attempted
80. v2(xyi + yzj +xzk) equal to (where V2 is

Laplacian operator) -
(M 3 @ i+j+k

@ 1 4 0

(5) Question not attempted

75. yfzaerd B S, o et

3x+4y=2ﬁw4x-3y=2'§, g -

(1) 2 ) TIE
@ 3 @ 2

(5) SR ¥
76. afy 2, (ol 21, 22 ¥ g §), v fAgE

Freafd O g, @ :T‘;—:f TR B —
(1) 3 (2 5

(3) 1 4) 2

(5) 3rgaIRd T

TT-WWWWW,WQNH\HWHW
ﬁéﬁﬁﬂﬁx=;—;—,f(y,z)=0 a8 -

@ f(2,2L)=1

-y
VZx ' V2x

o (37 )=0
(5) arg=iRa T
78. [2xJo(2x) dx TR & —
M Z27y,(6) @ 21,(6)
® 21,(6) @ = Jo(6)

(5) 3rRd 7

79. fy=fofag Gl § A BTG B TI &7
(1) Bex PT Y Hed wIeAd el 2 |
(2) o FARE (X, d) BT AP Hed Sug=d

GECE

@) of2 d, R ¥ §ERYT Q@ &, d (R, d) Hed
e FHfe 8|

@) 15 e THfe § 9% IRMAT SuEyey
wed 8l B

(5) sraRa e

80. v2(xyi +yzj +xzk) TR B (GEf 2

AT HHRS &) —

(1) 3 @ i+j+&

3) 1 @0

(5) arfaRa e

— T

Pace 15 nf 32

‘3#:__5-91
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81. A
reg X 3
€a boundeq by the curve Y =X sin X, X-axis and

Ordinateg y — 0,x =2mis -

(1 2
) T square unit (2) 4x square unit

@ .
) 3n Square unjt (9) 27 square unit

5 v
®) Question noy attempted

82. |
ZAI denotes the area of the region bounded by
Y =4xand x = 4, and A, denotes the area of the
Tegion boundeq by y’=4x and x = 1, then A;:A,
1S €qual to -
(1) 2. () 16:1
() 4.1 4 8:1

) Question not attempted

83. If Sy is the Symmetric group of n-symbols and A,
Is its alternating group, then index of A, in S,
s -
(1) 2n (2 2
@3) 3 (4) n

(5) Question not attempted

84. Two spheres x? + Y +224+6y+22+8=0and

X’ +y + 224+ 6x + 8y + 42420 =0 cut

orthogonally, then the radius of the common

circle is -
(1) 3vz . V3 .
75 units (2) 717 units
3.,
(3) \%units @ 2 units

(5) Question not attempted

85. If the iteration formula x = x + b(x? - 3)
converges at a good rate (given thatx = a, (a > 0)
is an initial approximation for the root), then

which of the following is true?

o be (o)) (2) be (-a,0)
@ be (- ) @ be(=,0)

(5) Question not attempted

81.

82.

83.

aﬂ-ﬁqﬁ = ,x=2ﬁ'
dsh y =X sin X, x-S181, T e

% Rag & 71 8P & -

() n ot 57 @ 4nt T
@ snat god @ 2 5O
(5) 3rgaRa we

AT y2 = 4x T x =4 ¥ IRIE g @1 &Ad
A o B Td yP = 4x a9 x =19 IRIg
8 BT %A A, ¥ & I, Al ArArz TR
2

() 4:1 (4) 8:1
(5) 3R wes

afz S, n-ydiFt BT 0P wHAT T T AR A,

EXCal URI<¥ '\‘=|71'5' 'E-.\', Fﬁ Sn # An Pl Q]aﬂilﬂi
g -

(1) 2n (2) 2
(3) 3 (4) n
(5) srgaiRd uew

W M %+ Y+ 22+ 6y + 22 + 8 = 0 TAT

x2+y2¥zz+6x+8y+4z+20=0 e® wY
| Fred € @ wafte g9 @ ey @ -

(1) 32 garé @ 2E goré

V2 V3
@) = (4) 513
(5) srgaRa e

-uﬁg‘lﬂ’qﬁ‘-ri‘ﬁx:x+b(x2—3)wma?

d IfERT = (ﬁm%‘x=a,(a>0)‘1aaﬂ
Wﬁmﬂﬁmﬁ),ﬁﬁwﬁﬁﬁww
27

(1)be(0,1)

a

(3) be (-oo, -1-)

a

®) srRa e

@ be (- 0)

@ be (33—1,0)

e
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86.

87.

88.

89.

90.

1.

e ——

- =

For usual metric d(x, y) = |x — yl for [0, 1] value

11
of S[;,;] (closed sphere with centre % and

. 1 .
radius 2) exactly is -

® o] @ [o,]] E—*

ol

(3) U’l 11
) ( 2)_ @ ;3]
() Question not attempted
If permutation
_(1 2 3 45 67 89
o=
3 183565 5 2~ tes
Ehe order of G is -
(1 3 (2) 2
B) 6 @) 4
(5) Question not attempted
The derivative of function f(z) =ij: ;zEl
where z=x +1iy, X, yeR,i=v—1,atz=2,is -
(1) -2 (2 2
(3) 2i (4) -2i

(5) Question not attempted

If x-axis is the axis of a right circular cylinder
and radius is V3 and its equation is
ax?+ by?+ cz? = 3, then (-Z—- -l:-) is equal to -

(1) ) 1

3 0 4 -1

(5) Question not attempted

Two balls are projected from the same point with
angles of projection 30° and 60° respectively. If
they attain the same greatest height, then ratio of
their velocities of projection is -

(1) 1:1 (2 2:1

@ V3:1 @3:1

(5) Question not attempted

Number of real asymptotes of the curve
y3—x2—3x=0are-

(11 (2 0

(3 3 4) 2

(5) Question not attempted

GET IT ON
Google Play i

8. w1 @ d(x, y) = Ix — yl, [0, 1] @ fTC.
fy.2] s on P L an s e )

HEH 7 7 —
oby @
w0y @k
(5) rgaiRa e
87. ofe s
(1 23456789
o=(31 4286097 ;) Mo?
HIfe 2 —
(13 (2) 2
@) 6 4) 4
(8) s e
88.qo_oF-[f(z)=%_L:;z¢1GfE?fz=x+iy,x,yeR,
i=V— 1, 2=2 TR AIHAA & —
(1) -2 2 2
(3) 2i (4) -2i
(5) argaRa ue=

89. 7y T TTEgUT I @I e x-feT € T
o V3 ® T FEST GHIR
ax’+ by?+ cz?=3 &, dl (3-2) RN B -

M o
@) 0

(5) argIRd ugA

b ¢
2 1

@) -1

90. g5 & fag ¥ &1 A< HA 30° TAT 60° B HION
R vefa 9 o § 1 afk e T W HewH
Sor$ WA B, @) we 9 BT A ® —

M 1371
@) y3:1
(5) FIRT ueA

2 2:1
4 3:1

91. qm y3_x2—3x=0$wﬁm TR o)

=T & —
(1)1
(3) 3

(5) IrgeRRe o<

M (-:3‘\ Page 17 of 32
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T Bl D AR
92. The number of eXtreme points of the convex set ~ 92- fygrr Ax = b, x 20 ® FETA

93.

94,

95.

96.

97.

of feasible solution of system Ax =b, x > (), js -

(1) Infinite (2) Zero
(3) Do not exist (4) Finite
(5) Question not attempted

Ifu="f(x,y)isa homogenous function of x and
y of degree n, then degree of each homogeneous

function g—E and g; is -

M -1 (2) n

(3) 2n @) (n+1)
(5) Question not attempted

If (AxB) +(3.5)" = 144 and [3] = 4, the
IEI is equal to -

(M6 (2 12

3 3 4 9

(5) Question not attempted

The value of (2!c, — 10¢C,) + (3c; = 1%¢,) +
ceveneens F(B1C19 — 10C, 1) is —

(Where "C, represents binominal coefficient)
(1) 2% _210 (2) 2204 210

(3) 220 510 (4) 221_511

(5) Question not attempted

1) x+= P
f(l +x—;)e x dx is equal to -
1
(2) —xe™x +c

1
(3) xe’”’-% +c @) e**x4¢

(5) Question not attempted

M) x- 1)ex+§ +c

The general solution of the differential equation

% =sin?(x-y +1)is -
(1) tan(x—y+1)=x"+c
(2) sec’(x —y+1)=x+¢
(3) tan(x —y+ 1) =2x"+¢
(4) tan(x —y+1)=x+¢C
(5) Question not attempted

S

&

93.

95.

96.

97.

e e gl oY e €1l # -
(1) smRfed (3 s
(3) Rrermr A& (@) aRfd

(5) srgaRa U

afe u = f(x, y), x T yiri"f?ﬁTnEfTﬁEZw
qHEE Go &, d g |EETd B oo 3

N T & —
dy

(1 (n-1) (2) n
(3) 2n 4 (n+1)
(8) IgaRa ue
.afk (@xb) +(@b) =144 o (3] = 4, 7
|b| TR & —
Me6 2 12
@) 3 @ 9
(5) arg=iRa g

(P2 —2°C) + (P10, = 19C) H e,
+(21C10 e locio) a'Tf fﬂ:f % -

(STET "C, fgus onid BT yelfa Hvar )

(YEaste 710 (2) 2204 210
(3) 220_ 210 (4) 22I_2]!
G) rgalRa g

f(l +x—i)e"+§dx TR B —

M x-De**5+c (2 —xe**x 4 ¢

@) xe*x 4 ¢ @) e+t
) srRa yea

I oy
T B —

(1) tan(x—-y+l)=x2+c'
@) sec’(x—y+1)=x 4 ¢
@) tan(x —y + 1) =2x2 4
@ tnx -y 4+ =x4c

®) srraRer e

=sin’(x -y +1) &1 @
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98. dS? = gjj dx' dx/ is invarjant, then which of the

following is true?
(1)
(2)

£ij 1S a symmetric covariant tensor of rank 2.

8ij 15 a skew-symmetric contravariant tensor
‘of rank 2.

(3)

&ij 1S a symmetric contravariant tensor of

rank 2.
(4)

&ij 18 a skew-symmetric covariant tensor of
rank 2.

(5) Question not attempted

99. The coordinates of the pole of a plane

2Xx — 3y + z = 12 with respect to the sphere
x*+y>+ 22 =16 are =

98.

99.

]
AR dS? = g dxi dxl Freer B, a9 e OE
Bl Aeg 27
(1) g; PIfe 2 &7 FHfT TEuRad! ufer |
@) g B 2 P fawd wafia gfoaRadi gt
.
() g; Hfe 2 1 wAM Rt gfewr €|
@) g; PIfe 2 &1 fava Fufa wEuRed] 4ic?]
2 |
(5) srgaiRe U
Mot x2 + y> + 22 = 16 & GO FHAS
2x-3y+z=12% gd & fAcw®d & —

e kel

8 -4 8 , -4
B _, 8 4 - b G473 @ (5.43)
M (-4 @ (3.43) 0 50
8 4 8 4 3 (3, _4'p- 3 @ |z s
(3) (53 —4'a g) (4) (-:,:i 4': 5) 3 3 3 3
(5) Question not attempted (8) SrgeiiRel I
100.1f the entry (2, 2) is a saddle point for the 190-f @Wer ¥ Tfy HSHT (2, 2) HT *gwa TeaT
following game - fig 2 —
Player B | RIcTST B
B1 B2 B ' By B, By |
Ay | 2 4 5 A | 2 4 2 ]
PlayerA, A, |10 7 y faemrst A, A, |10 7 y
Az | 4 X 6 ' LAz | 4 X 6
then which of the following is true? al o= 9 9 B 9w 2
(1 x<6,y>5 (2 x>7,y>7 (M x<6,y>5 (@ x27,y>7
@B x<7,y>7 @) x<5,y>7 Ei_f @) x<7,y>7 ) x<5,9>7
(5) Question not attempted * (5) SrgaRe wee
. -1 __y+1 _ z-1 x-3 _y-k =z $ Xx-1 _y+1 _ z-1 X3 _y-k
101. If the lmes_xT-=T:—4—andT—T*-l- 101-31%." b\'@m -2——T—- P AT " _T:t
intersect, then the value of k is - R Yoz edl €, d k&1 79 & —
9
a 3 @ ; M 3 @ 3
= -9 o _
@ = @ 7 o 2 @
(5) Question not attempted (9) IrgaRa wee
__‘__-__“‘-_‘_'\-q
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102.1fHisa subgroup of a group G and N is 3 normal
subgroup of G. Then consider the following
Statements —
() HNN is a norma] subgroup of H.
(i) HNisa subgroup of G,
(iii) N is a norma] subgroup of HN.
Which of the above Statement/s is/are correct?
(1) Only (i) and (iii)
(2) Only (i) and (ii)
(3) Only (i) and (i)
(4) (i), (ii) and (iii) all
(5) Question not attempted

103. The equation of the plane that has three point
contact at with  the
Xx=t-l,y=0-1,z=0-], is-
M 3x+8y+6z=0 (2 3x-8y-6z=0
) 3x-8y+6z=0 (4 3Xx-y+6z=0
() Question not attempted

the origin curve

104. The equation of the tangent line at the point t = |

to the curve x = 14, y =2, z = 1483 is -
X-2  y+1 z+2 X+2  y-1  z-2
(1) —=

—_— T —

1 2 3 1 2

(5) Question not attempted

105. Complementary function of differential equation

2 dy e I is -
X dx? +3x dx ty (1-x)?

(1) (14 ¢1x) + e (2) i(cl-}-cz log x)
() (ci+ cx)e* @ (c1+c; logx)x
(5) Question not attempted

106. A number is selected from first 50 natural
numbers. Probability that it is a multiple of 5 or

11is-
1
() ¢
3
(3) Be
(5) Question not attempted

@ :

@ -

R —

GET IT ON

Google Play

(1) eaa (ii) T (ii))
(2) daer (i) 7T (ii)
(3) g (i) TAT (iii)
(4) &4t (i), (ii) 7T (i)
(5) arxiRT W
108.9y wadd @l GHeNUT W g
x=t-1,y=t-1,z=t-1% A T fig i
f-fog ¥7@ Fxar €, € -
(M 3x+8y+6z=0 (2 3x-8y-6z=0
B) 3Ix-8y+6z=0 (4 3x-y+62=0
(5) agaRa we
104'a'ﬂ?x=1+t,y=t2,z=l+t3aﬂﬁ"'_gt=11ﬂ
WIRET BT GHAFHor & —

e B 2 _y1_ z2
(3) : = - (4) Mt
5) srgaRa yem
2
105. 319 WUT 2 &% dy 1
X dxz+3x Ex'+y"(1-x}2
TE Bar & —

1
3

(3) ~ w2

(5) IR e 25

35. D
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HOP I e ¥ o 3
* 2215 9X = AX” + Bx® + Cx + D, then the

value of 5A + 3B + C is equal to -
)3 2 5

@) 9 (4) 7

(5) Question not attempted

108. The value of {(\/5 + 1)6 + (V2 - 1)6} is -
(1) 199 (2) 208
(3) 99 (4) 198

(3) Question not attempted
1

Jx+[x]

(where [x] is greatest integer function) is -
(1) (-0, 0] (2) (-0, 0)

() (0, =) @ [0.3)

(5) Question not attempted

109. The domain of the function f(x) =

110. If A is an invertible matrix such that A* = A + I
(where I is unit matrix), then inverse of (A% - A®)

is equal to -
(1) -A"! 2 A’
@1 4 A Pk

(5) Question not attempted
111. Which of the following statements is a false

statement?

(1) Polygons which are convex sets, have the
extreme points as their vertices.

(2) An extreme point is a boundary point of a
convex set.

(3) The open half space {x:cx>z} is not a convex
set.

(4) A convex set may have infinite number of
extreme points.

(5) Question not attempted

112. Infinite series 1+|.%.+lll+ ]—i—+ ......... oo is equal to -
(1) e(1-e) (2) 3e
(3) e(e-1) (4) e(e+])

(5) Question not attempted

8 m { — .1‘\'} e = B

107. fg f—xﬂﬂ——dx = Ax*+Bx} + Cx + D &1

x*-2x242

5A+3B+C & A @@ & —
1 3 () 5
@) 9 (4 7
(5) argeiRa gwA
108. {(ﬁ+ 1) 4 (V2 1)6} &1 A 8 -
(1) 199 @ 208
2
(3) 99 @ 198 5 “*’a,(
A A
(5) srgaRa geA Vi %
1 o
109. Hefe f(x) = == (T (x] HEwH quiics et
) o1 U @ — (7>
1 55 2 -co “ "'.‘?J‘;
(1) (-0, 0] (2) (-0, 0) s, Jﬁ.\{
(3) (0, ) (4) [0}1) % i AL
2 &
(5) R weH F

110. 7 A t& gohaoNd g 39 TR 2
A=A +1 (G811 SPTS MFE &), A9 (A°- AY)
P YTl aXeR & —

(1) -A"! 2 A
(31 4 A
(5) argaiRe WA

111, y=fiRad U § ¥ ST HUH TG 27
(1) gy ' 3@ 9Ywd B, Se O Al

oA fag 810 2|

(2) e Teg & U %A (475, Uh TR
faeg & 2 |

(3) faga onf wHfe (xicx>z) TP AT W=
&1 BT 2 |

(4) TP IyagE wHed B W AW fag |
|qHd E |

(5) IgiRa we

3 7 15
112 aﬁﬁs‘rvﬁ1+—+|~i+—|§_+ --------- TR & —

(1) e(l-e) (2) 3e

(3) e(e-1) (4) e(e+1)

(5) argaRe we

Page 21 of 32
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113.

114,

115.

117.

118.

GET IT ON
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If matrix A — [i

equal to -
(1 15 (2) 18
3) 21 @) |

(3) Question not attempted

If o, B are roots of the equation x>- a(x+1)-3=(, 114

a?+2a+1 B2+2B+1 ;
then ath2ais m (where a£B) is equal
to -
(1) 1 (2 a+3
@ 0 @ -1

(5) Question not attempted
For any two numbers a and b, standard deviation 115
is -

ab

(1)

a—b|
2

a+b|
2

2)
a-b 2
(4) —2-)

()

(5) Question not attempted
116.

Three vectors a=1-j, b=j—Fk ¢=Fk—1
are given. If dis a unit vector such that
id=0= [-b.i:'a'], then d is equal to -

) :f:(i+i;—2R) , @) (i+j+2K)
3 V6
(i+j-2k) (14j+2Kk)
@ = @ =

(5) Question not attempted

If ax’? -by’ + 322 +2(a+AM) xy—(b+1)z—a=0 117.

is an equation of sphere (where a, b, c, A are
constants), then its radius is -

(1) -JI;O unit (2 ? unit o

@) 22 unit (@) *unit Eﬁ'—_{
(5) Question not attempted

The value of (Vx A), where 118.

A= Xyl -2xzj + 2yzﬁ. at the point (1, 2, 3) is —
M 2j+k (2 8i-7k e
7= & e Yl =22y 12z}
(3 8i+j-7k @) 61-7k T ~zxfrzyk
L

(5) Question not attempted 37wgI. o1
<

-3
Z1] - then 1A% sasmy i yyq.

116.

2 -3 90 _ 5A%
afg anag\'a'A=[1 _1]’?h A
TWER & —

() 15 ) 15
@) 21 U
(5) argaRa U

e o, B EHIERT x2-a(x+1)-3=0F 7 |

a?+20+1 | BA+2p+1 (@g"’[ CO?*B) R & —
aZ+2a+3  P2+24+3

(1) 1 (2) a+3
@) 0 ¥ =l
(5) TR wA
=8} 21 et a g b @ faQ A fawre
BT & —
@ = @ |3
a+b a—b)?2
@ 5 @ (3)
(5) SrgaiRa e

7 e a=1-§ b=j-k ¢=k-1F
T E AR d E s AR T APR A ]
dd=0=[be¢d] ot d wax & —

1) +(‘i+j~2ﬁ) @ (i+j+2k)
- 3 V6
(1+-2Kk) (1+j+2K)
@ ol @ 0=
(5) Irg=iRa we

afg ax2~by2+3zz+._2(a+7«.)xy—(b+ )z-ax=

mamwm(mﬁa,b,c,mma)a
gD By & —

10 V1o

M |5 51 (2 -7
22

@) 22 gorg @) ;357

6) IgaRa gwm

g, 2 3) w (V&) &1 w7 <
A'=xyi -2xzj + 2yzk &, g —

M 25 +k @ gi_7¢
) 8 +5- 7% @ 6 -7
O) IR e
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119. On \hlfllng the origin to the point (_ 1‘_1_) and 119, et @Y HER 9y g, Hol BRI fdec

120.

121.

122.

keepi
ping the axes parallel, the new coordinates ol
the point (-—— —) will be -

“ G @ @Y
@ (53 @ (Z.0)

10
(5) Question not attempted

Ifr=|f= le +yj + zf(|, then V2r" is equal (o
(M n(n + 1 )-2 () n(n-1)m*?
) n(n + 1 )rn-1 @) n(n-1)m"!
(5) Question not attempted

real numbers, consider the following statements-

Statements -

(D Wi={(x,2y,32):x,y,z€ R} is o subspace
of V3(R).

(I) W2={(x,y,2):Xx,y, z are rational numbers )
1s a subspace of V3(R).

(IMW3 = {(x, x, x) :
Vi(R).

Which of the above statements are true?

(1) (I) and (II) (2) (11) and (111

(3) (I), (ID and (III) all (4) (1) and (111)

(5) Question not attempted

X € R} is a subspace of

Let G be the group of non-zero real numbers
under multiplication and G' = {I, 2} be the

multiplicative group of non-zero integers of

modulo 3, then the function f : G — G, defined
by -

B {1, if x is positive
f()= 2, if x is negative

(1) not a homomorphism
(2) an epimorphism
(3) a monomorphism

(4) an isomorphism

(5) Question not attempted

[t
E-"

For vector space V3(R), where R is the field of

120.

121,

122.

(l «,) R EFERE By fRar e, a1 g
(32,2) & o P et -

i {5%) @ (%)

@ (5.%) @ (.0)

(8) argaRa we

e r=|F|= |xi +yj + zk|, @ 04" avav @
(1) n(n+1)r" -2 (2) n(n-1)r" 2
@) n(n+1 )l""'l (4) n(n-1)r" I

(8) R weT
wfewr gafe Vi(R), &T@1 R arafda @i @
&7 8, @ forg e et v RAan e -
BT —
() Wi={(x,2y,32): x,y, ze R}, V(R) @)
Uh SuTHfe 2|
(I) W2 =4{(x,y, z): x, y, z URAU wiwni ),
Vi(R) @ U SudAfe |
() W3 = {(x, x, X) : x € R}, Viy(R) @ U
IuHfE R |
SRIF BT § § P we) &7
(1) (1) &= (1) (2) (1n) a2 (1
(3) (I, (I1) T (110) ¥f1(4) (1) @or (111)
(5) IreiRe ue
AT G UM & i s anafda iy
BT WYE & T G = (1, 2) A 3 D YA
QUi BT [OMITE  WEE 8, 4
f:G—- G o 9 ger uRwfa @
1, X 9IS B
= {2, EE X FUTSTH 8 s
(1) & waeRar =8
(2) T ameBTEd FHIEGRAT
(3) e TR
(4) v gearmTRa
(5) srgaiRa wee

het-
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123. Curvature for the curve r = a(l — cosB) at the

pmnt (a E) is -

(1) zaf (2) 32 3(
av2
(3) —3—- (4) m

(5) Question not attempted

124.1f (0, 0) and (0, 3) are the vertex and focus of a
parabola respectively, then the equation of the
parabola is -

(1) x2=-12y (2) x*=12y
(3) x*=4y 4) y*=12x
(3) Question not attempted

125.1f the sum of the roots of the equation

1 1 1 .
ra) T ey = ¢ 18 Zero, then the product of the
roots is -

M @ +b?) (@ —;@%+b?)

8 (4) (% +b?)
(5) Question not attempted

126. The cosine of angle between the tangents at any
point of the curve x = 3t, y = 3t%, z = 2t* and the

liney=z-x=0is -

1
M 3
(3) 1 3

(5) Question not attempted

127. Which of following is false statement?

(1) For smooth body, friction coefficient is zero.

(2) When two rough bodies are in contact with
one another and just to slide, then in limiting
equilibrium, force of friction produced at
point of contact is called dynamic friction.

(3) For perfectly rough bodies, coefficient of
friction is one.

(4) Coefficient of friction = Tangent of friction
angle

(5) Question not attempted

L R N S G 1

s (@ +b?)
Ei{? ,
(3)

GET IT ON
Google Play

123. 9% r = a(l - cosB) F fig (a, 5) T¥ TP &

) Za\f (2 .3_“[:
(3) *'3—2 @ 75

(5) srgaRa e
124. 33 ve wae @ oY aur T F (0, 0)
qT (0, 3) &, 9 IR B AHPRT E —

(1) x2=-12y (2) x*=12y
(3) x2 =4y @ y*=12x
(8) IrgaRa uA
1
TE8. Ilﬁ =T (x+a) (x+b) c t‘l‘a:T o w

IR E, A A BT [UERS § —
(2 —=(@?%+b?)

£
@47 @ ;@ +b?)

(5) srgaiRa weA

126.955 x =3t, y=3t2,z=2 t3$ﬁﬂ‘ﬁﬁ7§¢\'?ﬂ¥f

RG] TAT T y=z-x=0® 9a & P &)
BIT & —

VE= @ 5

(3 1
4 f

() srgaiRa ue=

1

127. fo=7 Sl § BIF9T 3/ B 27

() fore=y favs & forg enfor e gy e &
(2) 59 <) ve1 fivs & TR B et s @)
TN U g W A e aray & 2 a)

(3)W$Hﬁm$%qaﬁmwwm
g |
@) &dvr Tt = T BroT B gty

© i aé'_‘_f@_'_c_ [ ad4+..]
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128. The bounded the

3 ;
y2=x andx2=y3|g_

area Curves

by

4 ;
(1) < 5q. units (2) %sq. units

1 .
() - sq. units (4) gsq. units

() Question not attempted
129- Solution of the following assignment problem

1S -

Man -
1 2 3 4

I Job
I |12 30 21 15
II (18 33 9 31
HI |44 25 24 21
IV |23 30 28 14

(M) 11, I1-2, I-3, IV-4
(2) I-1, 114, I1I-3, IV-2
@) I-1, 153, II-4, [V-2
@) I-1, [1-3, [1I-2, [Vo4
(5) Question not attempted _
130. P and Q are two unlike parallel forces (Q>P). If
P is doubled, it is found that the line of action of

Q comes in middle between the line of action of
the new and original resultant, then which of the

following is true?
(1) 2P =3Q (2) 4P =3Q
(3) 4P =Q @ sp=2q #t
(5) Question not attempted

131. There are three mutually perpendicular tangent
planes to the cone 2ax? + y* + 2z% + 2ayz — 2zx —
6xy =0, then value of a is -
(1) 4,2 (2 2,4
(3) 2,4 4) 3,4
(5) Question not attempted

132. Value of A’ O° (with usual notation of A and
(O as zero) is -
(1) 1800
(3) 720

(5) Question not attempted

(2 120
(4) 180

128. g5} 2 = 3ol x2= 43 9 GRaE & BT e

-
(1) % @it gord @ ; @ g
@) ; @it gord @ ;o gord
(5) rqaRa ueA
129. fyferRaa fAgas W &1 8d € —
Y 2 o5 4
e
I /12 30 21 15
II 18 33 9 31
Il |44 25 24 21
IV |23 30 28 14

(1) -1, 152, -3, V-4
(2) 1I-1, II-4, 113, V-2
(3) I-1, I1-3, IlI-4, IV-2
(4) I-1, [1-3, -2, V-4

(5) argaRd we

130.p qorr Q <1 faudd wAWR g1 &€ (Q>P) | TR

P & G #X far oy, &t Q @ fikar
T4 1 g gRed &) fbar Y@ & dia /5
H 3 Sl 2, o1 e A @ e 9 87

(1) 2P=3Q (2 4P=3Q Y~
(3) 4P=Q @) 5P=2Q ‘"‘“xq,
(5) aaRa wea

131. 91 2ax® + y?> + 22 + 2ayz - 2zx — 6xy = 0

A9 YR oreaq WY 9o &1, d a b1 A
& _

(1) 4,2 (2 -2, 4
(3) 2,4 (4) 3,4
(5) araRd we
132. A’ O° (A & 9M=1 "@&aql a2 O &y B
od §Y) BT A ® —
(1) 1800 (2) 120
(3) 720 (4) 180
(5) argaRa g

-
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133. The  algebraic Structure (M, ), where
M= {a+b\/§ :a,be Z} and ‘s’ denotes ordinary
multiplication operation, then (M, *) is not a —
(1) Quasi group (2) Group
(3) Semi group (4) Monoid
(5) Question not attempted

134.1f random variate x and y are related as

4x + 3y + 11 = 0 and mean deviation of x is 5.40,
then mean deviation of yis -

M 7.20 (2 11.20
(3) -72 (4) 198 '
(5) Question not attempted Ath!

135.[‘@—;:)1“(% +x) =
(1) E (1- 4x?) cosec mx
(2) %(1 - 4x%) sec Trx
(3) E(1+ 4x?%) cosec mx
(4) g(l + 4x?) sec mx
(5) Question not attempted

136. The particular integral of the differential
equation (D*+D*+ D2 -D - 2)y = ¢ (Where D= %)
ig
(1) xe* (2) % xe¥

(3) % xe* (4) % xe* + 1

(5Y Question not attempted

137. Equation of right circular cone whose vertex is
origin, axis is z—axis and semi vertical angle 30°
is ax’+ by’+cz’=0, then b—:—s is equal to -

(M (2)
(3) (4)
(5) Question not attempted

Wi Wl
Win M| w

138. Length of polar sub-tangent of the curve
r=a(l —cosB) is —

(1) 2atan ('g')
@ 2asin? (%) tan (2) @ 2asin (9)

(5) Question not attempted

(2) asin®

GET IT ON
Google Play

T ——

; 3 QM:{EI”*'b'\[j:arbE
133. Grofry dxaaT (M. ) T8 5 it
W‘.‘WWW
(M‘o);rﬁﬁa.qiﬁ_-
(1) Fardt 9
(3) ¥4 9E
(5) argaiRd 7
1 =0
134. gy argfee® oX x Ty, 4x+3y + 1
jﬁfﬁmﬁlﬁs’imﬂxwmﬁws_

g ar y @1 HEd ferer & —

. (2) 98
(4) AFUS

(1) 7.20 (2 11.20
3) -72 4) 19.8
(5) arg<iRa wed

135.0 (3-x)r (3 +x) =
%) E(l— 4x?) cosec TX
(2) 7 (1-4x?) secmx
(3) 3 (1+ 4x?) cosec mx
(@) 7 (1+ 4x?) sec x

(5) srgaRa ued

136. g |HIHRT (D*+ D3+ D2 -D-2)y =¢
(G%T’Dz i) o1 fafdre garee & —

(1} xe¥ (2) l xeX
8
3) 3 xe* @ 2 xer+1
(5) IgiRa wee
W4 w@ fig don anfeid @yor 30° T3 ¥
2N q g vy @ e
X+ bylrez’ = 0B, o 22C qorge g _
(1) 2 3
? @) 3
@ 3 @ 2
(8) srgaRe e ’

138.;7,—5 r=a(l - cosp) § I el @ A=

(1) 2atan (-g-)
(3) 2asip? (.g.)
(5)

(2) 4 sin®

(AN _
g:n(Z) (4) 2asin (g)
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139 A ring, which can slide on a thin smooth rod, 139U ween, oY 6 g el ol fraeft B8 T

rests ata distance ‘k’ from one end ‘O’ of the rod. frerer waper &, B3 @ T AR 0T K S
The rod is then set revolving uniformly about ‘O’ W Re ) B3 B 7B g9 B9 4@ [ o
in horizontal plane. Then the radial velocity of @ Wer v Afer ad § gATAn ol &1 g
ring is (6 = ® constant) - BT 3T AT B (0= o 3ITR) -
() = wk sinhg (2 + = ok cosh® (1) t = ok sinh® (2) = wk cosh®
B) I = 2ko cos 4) # = wk cos (3) t = 2ko cosb (4) i = wk cosO
(5) Question not attempted (5) SrgeiRa ue

140.1f A, A, are the two arithmetic means and  140. If T =g a AT b & 77 Aj, Az Uik
G1, Gz are the two geometric means between two T Tl Gy, Gz & IR A 8, (%%E)
numbers a and b, then (A(;:G‘:z) is equal to - TR L —
(M = @ = ™ 25 @
(3) ab (4) a+b (3) ab (4) a+b
(5) Question not attempted (5) rgaIRa 92

141. Which one of the following statement about the  141. H¥gex EIE I @I AIdlA B fagg #
assumptions of computer aided instruction is not ferferRaa & & S doe |E T8 87

(1) sreaTId qeaRar | ARGl B Ay @
Hedih B DT © |

@ aflm st wd @ A ¥ A

correct?

(1) Teacher can promptly evaluate the learner’s

performance.

(%) One canIebm with his/h ——
ne cant€arn with his/her own pace. _
- B () 399 faafea ik afira goumer e &

(3) One can receives delayed and personalized T &

e "'Erj () ¥ R 98 wE @ Rl @ R 8
(4) It can be arranged for large group of students. IFHar B
(5) Question not attempted (5) IR wed ‘

142. What does an Overhead Projector (OHP) 142. RRIUR waidy (sigm.fl) a1 Wisiae &var 87

project? (1) Sfa= (eirga) s
(1) Live video _ 2) Rer g9 A
(2) Still visual material : @) s (i) .
(3) Audio files @) :
(4) Animated graphics '
(5) Question not attempted - ®) IR T2

~ - 7T N___ A _CL 327
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develop the concept-learning strategies of
students, but also supports inductive reasoning.
As per the prescription of model, the inductive
reasoning is -

(1) A retroactive effect

(2) An instructional effect

() A “Logo” effect

(4) A nurturant effect

(8) Question not attempted

144. Which of the following best describes the core  144.

idea of the system approach?

(1) It ignores the internal patterns and
relationships with the system.

(2) It studies the inter-related variables that form
a whole, interacting and influencing one
another.

(3) Tt assumes that each part of the system

" functions independently.

(4) Tt focuses on individual components without

considering their relationships.

(5) Question not attempted

145. Which one of the following is a characteristic of - 145.

flipped classroom?

(1) Reading assignments come from paper
textbooks.

(2) Lessons are delivered through online only.

(3) It is blending of online and in-person
learning elements.

(4) The teachers solely provide the information.

(5) Question not attempted

GET IT ON

143. The use of concept attainment model not only ~ 143.

I BT ® |

(2) T 1@ Hyof T ATl A F IS §Y A
BT T HIAT &, ST Th—ER BT W1
A B |

(3) 7§ 9+ar ® & udd AT Wad ©I 9 IR
HRAT B |

@ & 9 B §ra el B @A gEY da
AT Tl R a9 SR Fvar 2

(5) aRa ww

ﬁ“ﬁ%ﬁﬁﬁaﬁ?{hﬁa@(ww) FE-
@ faerwar &7
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146. A teacher divides the class into groups for  146.U% areamoss 3 Fen &1 aReaf @ fog ael A
discussion, in which each group leader moderate femfora fovan, foras yde a9 @1 W
and regulate the discussion on the probable () o @ e @ wafad e @ ferl
answers to the question in hands. Unresolved uRerat @7 warer iR g a2 gfrfic
questions brought back to the whole Cclass for et Pt amt oReet @ forg arftw wRql e
further discussion. This strategy of cooperative B TN BN AT & | eI AR B IE FE

learning is called - x AT FHEAN & —

(1) Group Investigation SR () WE 3Nl

(2) Jigsaw - , (2) frrat

(3) Student Team Achievement Division (3) faemeft &y Suafey wurT

(4) Teacher Presentation Students Revision (4) sreae FRgfaser el wereE
(5) Question not attempted (5) ol e

147. fyforRea § ¥ = Rervr—sifenm diteday,
Aimel P el db G¥d & F dAear ¥ 3R

147. Which one of the following Teaching-Learning

Software presents the data as quickly and

effectively as possible? T Y ¥ yefdia v 87
(1) Epidiascope (2) Magic lantern (1) vReTY (2) P cAreicH
(3) Graphs (4) Projector (3) % 4) Froraex
(5) Question not attempted (5) arqaRa wed
148. While selecting software for students’ learning, ~ 148- faenfefat ® I & forw HivedaR &1 A
Fe v Fr=fafed § @ 5o g=m @nfRe?

which one of the following will be avoided?

(1) 7€ fAenerm ¥ ST H¥ A BT AR |

(2) I8 SUANT B ¥ HY &M ALY |

(3) =z faenPial & v e @& w1 3=y
S Bl Al T 83T BT AIRY |

@ ) PEEz § P ST gexe

interfaces software. WivedaR 3wy g =Mey |

(5) Question not attempted (5) 3rguiRa wed

(1) It should be usable in the school.

(2) It should be easy to use.

(3) It should allow students to progress as they

develop.

(4) All the computers must have different-user

am /TN Page 29 of 32
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148 Which of the following is not a mode of non. ~ 149. fymferiRga # @ B4 SIS '

verbal communication® T 8 27
(1) Facial expression (2) Radio programme (1) @1 (2) e CaUED
(3) Body language (4) Sign language (3) TRIR® 9T (&) b T
(5) Question not attempted (5) srgaRa 9& T
150. Assertion (A) - Advanced Organizer Model is  150. o (A) — HT0H |T0P Ry
also called Expository Model. wfersre 1 PET e 8

Reason (R) - In this model, teachers provide RO (R) — 39 far 3 g HRA® Fidy

verbal instructions and students 3d & 3R BT AIRVISH P 7oy

grasp concepts as a whole. w9 # e BN € |
Choose the correct option - el faweg &1 Fgd HIAY —
(1) (A)is true but (R) is false (1) (A) W & S (R) 3T B
(2) Both (A) and (R) are true and (R) is the (2) AT (A) 3R (R) G & 3R (R), (A) BT 7@

correct explanation of (A) T HYAl §
(3) Both (A) and (R) are true but (R) is not the () <1 (a) iR (R) W & <Ifb (R), (A) B @
correct explanation of (A) ] T8 Har &
(4) (A) is false but (R) is true < 4) (A) g & Afds (R) Oy
(5) Question not attempted (5) sraRa wed
»
Sy
\
— T T e L

4 | Page 30 »f 32 i
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